
Math 5C Test 3 Spring 2024 

Follow Instructions given on Canvas. 
   

(1)  Evaluate    
( 10 points) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 (2) The integral  where R=[0,1]X[0,2] can be used to find the volume of a solid.  

Sketch the solid, showing scale.      (5 points) 
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(3)  Evaluate  where D is the region shown, bounded by and , and the 

coordinate axes.   (10 points) 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

(4) Compute     

You may want to reverse the order of integration.   
(10 points)  
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(5)    where C is given by x=t, y=2cost, z=2sint,   (10 points) 
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(6)   Evaluate  where S is the portion of the paraboloid y=x2 + z2 ,  

  
(10 points) 
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(7)  SET UP BUT DO NOT EVALUATE: integrals as specified to find the volume enclosed by 
the  cone   and the plane z = 5 in the first octant.    
     (20 points) 

 a)  Sketch the solid 
 
 

 
 
 b)  Triple integral - cylindrical coordinates. 
 
 

                                      
 
 
 
 
 
 c) Triple integral - spherical coordinates. 
 
 

                                      
 
 
 
 
 d)  Triple Integral – order dx dz dy 
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(8) SET UP BUT DO NOT EVALUATE:  integrals for   in the order specified, 

where E is the solid bound by  in the first octant   

       
In each part, sketch the necessary projection    

      (15  points) 

 
 
 a)  Triple integral – order dz dx dy   
 
 

                                      
 
 
 
 b) Triple integral – order dy dx dz    
 
 

                                      
 
 
 
 
 c) Triple integral – order dx dy dz    
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(9) Find the volume of the solid bound by  ,   (10 points) 

    

z = 1− y2 , x + z = 2, z = 0, y = 0


